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(@) Explain briefly the basic financial decisions and how they
are related with eacﬁ other. How do they involve the

risk-return trade-off ? . 7%

(b))  Why is consideration of time important in financial decision-
making ? Discuss briefly the different techniques which

~can be used fo incorporate the time value of money. 7%
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or
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How has the role of finance manager evolved over decades

particularly after globalization ? Explain. 7Y%

Perfect Ltd, is planning to buy a machine, cost of which
is ¥ 1 crore, on hire-purchase basis. It involves the cash
down payment of ¥ 10 lac and remaining in ten equal
annual instalments starting from 2 years from now. If
supplier of machine is charging 10% rate of interest p.a.,

find out the amount of instalment. . T
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Explain MIRR. How is it different from IRR and incremental
IRR ? Why is MIRR preferred over IRR and incremental

IRR ? 74

Supreme Lid. is evaluating a proposal which requires
initial investment of ¥ 31,000 having an economic life
of 5 years. It is expected to provide cash sales revenue
of ¥ 21,000 p.a. over its life. The variable cost is 30%
of sales. Fixed costs excluding depreciation is estimated
to be ¥ 5,000 which includes allocated overheads of
¥ 2,000, Corporate tax rate is 35% and after tax cost
of capital is 13%. .Depreciation is to be provided on
straight line method of depreciationi. Should the proposal

be accepted ?
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What would be your answer if expected rate of inflation

Is 6% applicable 10 cash sales revenue, variable and fixed

costs ? 74
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Or
(3rgan)
(@)  Extreme Ltd. has the following three independent projects :
Project | Cash outflow 1-4 vears Risk adjusted
at 0 period CFAT pa. cost of capital
A T35 lac T 1.5 lac 7o
B T 10 lac T3 lac 6%
C T 15 lac T 435 lac P
() Find out which project would you choose and why
il there is no capital rationing ?
(i) Which project would vou choose and why if only
T 15 lac capital is available ? 7'
(b) A company is considering two mutuaily exclusive projects

X and Y. Project X involves an initial investment outlay
of ¥ 1,00,000 and wili generate cash inflows after taxes
of ¥ 25.000 p.a. for 10 years which is the expected cconomic

life of the project.
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Project Y requires an initial investment of ¥ 1,50,000

and will generate cash inflows after taxes of 2 34,500 p.a.

for the first 5 years and ¥ 50,000 p.a. for the next

3 years. The total life of the i)roject is 8 vears,

Whicli project should be undertaken by the firm and

why ? Assume that the cost of capital is 14%. 7%
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Superb Lid. has 50.000 equity shares of ¥ 100 each,
The Co. carns a return (EBIT) of 15% on its investiment.
Superb Ltd. is evaluating a project which involves the
investment of ¥ 50 lac and is expected to earn a return
i.e. EBIT of 15%. For raising this money of T 50 fac,

the following alternatives are available :

(/) Issue of equity shares of ¥ 100 each at a premium

of T 25 per share.
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(i) Issue of 10% preference shares.

(iif) Issue of 9% debenturcs.

If the corporate tax rate is 35%, find out which alternative

should be selected ?

if the objective is to maximise the wealth of the sharcholders
that is market price of equity shares which alternative
should be selected if projected P/E ratio in case of
equity, preference shares and debentures are 13, 12 and

9 respectively. ' ’ T4

Explain the relationship between leverage and value of
the firm according to traditional theory of capital structure.
What explanation is given for this relationship by the

trade-ofl theory of capital structurc ? l T4
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Shakti Ltd. has EBIT of Z 20 lac. It has 8% debentures
of ¥ B0 lac. Corporate tax rate is 35% and corporate
dividend distribution tax is 12.5%. If personal tax rate
on interest income is 30%. find out the income of al.]

investors of Shakti Ltd.

What will happen to the income of investors if personal
tax on dividend income is payable instead of corporate

dividend distribution tax and rate of personal tax on dividend

income is also 12.5% 7

Which situation is better from the point of view of equity

shareholders and why ? T

Power Lid. has net operating income of ¥ 10 lac. It
has 10% debt of T 30 tac and cost of equity capital
is 12%. As debi is a cheaper source, Power Ltd. is planning
t6 raise more debt and use the proceeds to rgpurchase

equity shares. Two alternatives are available :

P.T.O.
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(7Y Increase the debt from T 30 lac to T 40 lac in
which casc cost of debt and equity remain the same

ie. 10% and 12% respecti.vely.

(i) Increase the debt from ¥ 30 lac to T 50 lac in
which case cost of debt remains the same ie. 10

but cost of equity increases 1o 13%.

Find out which alternative should be sclecjed and

why ? Assume no taxes. , e
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“Declaration of issue of bonus shares is generally followed

by increase in market price of shares expecting additional

shares for existing shares. But in fact sharcholders’

proportional ownership remains unchanged cven after the
issue of bonus shares. So the price of shares should
not change.” Do you agree ? Hlustrate with a hypothetical
example. Also state the reasons for the issue of bonus

shares. ' 74

Excellent Co. has 10.00,000 equity shares outstanding at
the start of the accounting year and the share is curremly

priced in the market at ¥ 120. The rate of capitalisation

- appropriate to the risk class to which the company belongs

is 10%. Company is expecting that during the year net
income will be ¥ 1 crore and good investment opportunities

of ¥ 1.5 crore will be available.

Now, finance manager is of the view that ¥ 6 per share

“should be declared as dividend at the end of the year,

-

However, board of directors is of the opinion that no
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dividend should be distributed and afl eamings should

be used to finance the investment opportunities.

Advise the company whether dividend should be paid
or not assuming MM hypothesis prevails. Justify your

advice by the analysis of the above data. .
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Or

(3t

Why do mergers and acquisitions take place ? Explain
the different modes which can be adopted by acquiring

firm to get the target firm. 1%
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A Ltd. is intending to acquire T Ltd. and relevant financial

data are given below :

A Ltd, T Ltd.
EAT (3) 50 lac 9 lac
Ne. of equity shares 10 lac ; 3 lac
Mkt price per share (4 IS(:_?.P T 100

This proposed merger is to take placehby the issue of
equity share of A Ltd. for the shares of T Ltd. The

following two options are given to T Litd. :

A

() Exchange ratio based on current market price.
(i) Exchange ratio based on eamings per share,

Find out which option T Ltd. should opt for ? How
much will be the benefit to T Ltd. by adopting that
option ? 7%
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"Explain temporary and permanent current assets. What

are the different approaches which can be used to finance

- -

[3
the current assets ? Discuss the risk-return trade-off

-involved in these approaches. } 4
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Wonder Ltd. is considering the possibility of relaxing
its collection efforts to push up sales and thus increase
income. Its current sales are T 60 lac, its average collection
period is 30 days, its variable cost to sales ratio is 70%,
cost of capital is 10 percent, bad debts ratio is 0.05.
The relaxation in collection efforts is expected to push
up sales by ¥ 20 lacs, but increase the average collection
period to 45 days and raise the bad debts ratio to 0.06
and also increase the administrative costs by T 50,000.
If thel corporate tax rate is 35 percent, advise the

co. whether collection effort should be relaxed or
not. - ~ T
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Why does the need for working capital arise ? Explain
the different methods of estimating the requirements for

working capital, | 7%
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(b) The sales forecasts of Maximum Associate Ltd. for
the first four months of the next financial year are as

follows :

Months 4

April 80,000
May = 90,000
June 95,000
July l 00,000

Other information is as follows :

(1} 20% sales are on cash basis. Credit sales are collected

in the month foilowing sales,
(i) Cost of sales is 70% of sales.

(i)} Anticipated sales of each month are purchased in
preceding month and paid in the month following
purchases.

P.T.O.
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{iv) The only other variable cost is a 5% commission
to sales agent which 'is paid in month after it is

eamned.

(v) Fixed costs are ¥°5.000 per month including

¥ 3,000 depreciation.

(v In May, a computer costing ¥ 40.000 will be

purchased.
(vif} The opening balances of different accounts are :

Debtors ¥ 64,000, Creditors ¥ 56.000, Cash

T 15,000, Accrued sales commission ¥ 4.000.

Prepare a Cash Budget for first' three months of next

financia! year. _ WA
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